[image: image1.jpg]Algebra 2
Number, Coin, Age - Alal

The sum of 4 consecutive integers is 334. Find the integers.

If 6 less than a number is multiplied by 2 more than that number, the result is 8 less
than the square of the number. Find the number.

The difference between two numbers is 16. If % of the larger number is the same as % of
the smaller number, what is the larger number?

Four-fifths of an odd integer minus two-thirds of the next largest odd integer is 18. Find
both integers.

The ratio of an integer and 4 less than that integer is 3. Find the integer.
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6. Three times ihe reciprocal of a number plus 7 times the reciprocal of one less than that
number is zero. Find the original number.

7. Amanda has $5.77 in her coin bank. She has 3 more quarters than pennies, and two
more pennies than dimes. The number of nickels is 1.5 times the number of pennies.
How many coins of each type is in Amanda’s bank?

§.  Margaret has 4 more nickels than pennies. If she were to spend 3 of her nickels and one
of her penuies, she would have 88¢ left. How many nickels and how many pennies does
she currently have?

9. Lucy is six years older than Kathy. In two years, Lucy will be twice as old as Kathy.
Find their ages now.

10. Martin is five times as old as his cat, Peewee. In 4 years, he will be 3 times as old as
Peewee. How old is Martin now?




